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ENGINEERING & MANAGEMENT EXAMINATIONS, JUNE – 2009 

INTRODUCTION TO PROGRAMMING 
SEMESTER - 4 

 

Time : 3 Hours ] [ Full Marks : 70 

 
GROUP – A 

 ( Multiple Choice Type Questions ) 

1. Choose the correct alternatives for the following : 10 × 1 = 10 

i) No. of bytes reserved for long double is 

a) 8  b) 10 

c) 12  d) none of these.           

ii) Conditional operator is 

a) unary operator b) binary operator 

c) ternary operator d) none of these.           

iii) In odd loop 

a) the statements within the loop are executed depending on the outcome of 

the user 

b) the statements within the loop are executed first, then the condition is  

checked 

c) the statements within the loop are executed depending on the condition 

d) none of these.             
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iv) What would be the output of the following ? 

 main() 

 { 

  float x = 98·412498 ; 

  printf("%6·2 f", x); 

 } 

a) 98  b) 98·4124  

c) 98·41 d) 98·412498.           

v) What would be the output of the following ? 

 main() 

 { 

  int a = 3, b = 4 ; 

  b% = 3 + 4 ; 

  a ∗  = a + 5 ; 

  printf("%d%d",b,a); 

 } 

 a) 4    24 b) 0    24 

c) 5    14 d) none of these.           

vi) What would be the output of the following ? 

 main() 

 { 

  int x = 7, y = 5 ; 

  x = y++ + x++ ; 

  y = ++y + ++x ; 

  printf("%d%d", x, y ); 

 a) 12    14 b) 12    20 

c) 14    21 d) none of these.           



http://qpaper.w
but.ac.in

CS/B.Tech (BME)/SEM-4/CS-408/09

 5
 

 

 4664 ( 16/06 )     

vii) All the members of class are by default 

 a) public b) private 

 c)  protected d) both (a) and (b).           

viii) The example of 16-bit compiler is 

a) visual C++ b) Intel 8086  

c)  gcc compiler d) none of these.           

ix) The fseek() function is used to 

 a) give the current position in the file  

 b) set the position to the beginning of the file 

 c)  set position to the desired point in the file  

 d) create a new file.             

x) To allocate the memory dynamically in C++, the operator used is 

 a) enum b) delete 

 c)  new d) scope resolution operator.           

GROUP – B 

 ( Short Answer Type Questions ) 

  Answer any three of the following.  3 × 5 = 15 

2. Differentiate between type conversion and type casting. Explain with a suitable 

example.  

3. What is odd loop ? Explain with example. 

4. Write down the features of Object Oriented Programming Languages. 



http://qpaper.w
but.ac.in

CS/B.Tech (BME)/SEM-4/CS-408/09

 6
 

 

 4664 ( 16/06 )     

5. What are the advantages of using pointer ? What is pointer to pointer ? 

6. What is dynamic memory allocation ? Write down the advantages and disadvantages of 

dynamic memory allocation over static memory allocation.  

GROUP – C 

 ( Long Answer Type Questions ) 

 Answer any three of the following.  3 × 15 = 45 

7. a) What are the differences between automatic variable and static variable ? Explain 

with an example. 3 

 b) What do you mean by stack overflow and stack underflow ? 4 

 c) Write a program to multiply two matrices of order LxM and MxN. 6 

 d) What are the advantages and disadvantages of recursion ? 2 

8. a) Write a program to concatenate two strings without strcat() function.  5 

 b) What are the differences between structure and class ? 3 

 c) What is pointer to a function ? Explain with example. 4 

 d) What would be the output of the following code ? 3 

  main() 

  { 

   int n[3][3]={2, 4, 3, 

    6, 8, 5, 

    3, 5, 1}; 

   int i,j; 

   for( i =2; i > = 0 ; i -- ) 

   { 

    for(j = 2; j > = 0; j -- ) 

         printf("%d", ∗ ( ∗ (n + 1) + j )); 

   } 

  } 
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9. a) What is command line argument ? 2 

 b) Write a program o write a text into a file. Find all the vowels from that text to 

store them into another file and display them. 6 

 c) Explain different file operation modes. 4 

 d) Write down the differences between macro, function, inline function. 3 

10. a) What is function overloading ? Explain with an example. 5 

 b) Write down the characteristics of friend function. 3 

 c) Why the constructors and destructors are used in C++ ? Explain with an 

example. 5 

 d) What is the difference between private and protected access specifier ? 2 

11. Write the short notes on any three of the following : 3 × 5 

 a) Virtual base class 

 b) Inheritance 

 c) Storage class 

 d) Preprocessor 

 e) Void pointer. 

    

END 


